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2 Molarity of an aqueous solution

Containing 40g of NaOH in two litre of
solution is

J& 05

(Q) .5

(B) 1.0
(D) 0.75

dryether , cpy,.cH, +
2NaBr.

3 2CH,Br + 2Na
The reaction is :

(A) Friedel crafts reaction
JB) Wurtz reaction

(C) Fittig reaction

(D) Wurtz Fittig reaction

1 The number of atoms in a body centred 13t Plsid TG UHd BIRSE! H Sl Bl
cubic (bcc) unit cell of 3 moncatomic H& Bit %
elementary substance is equal to
(A) 1 BT 2
(A 1 JBT 2 (C) 3 (D) 4
c 3 (o) 4

2 40g NaOH , 2 ferex et faeam o Sufeud
¢, i &t vierar gt :

w05

(@) 1.5

(B) 1.0
(D) 0.75

3 2CH:Br+2Na dvether o oy oy
2NaBr.
g sfufpar g

(A) Biad wrae Afvfgar
JB) GEH Sffiifan

(C) b aif¥fean

(0) e fisfen sififman
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4 w i
hen aqueous solution of NaCl is

electrolysed the product obtained at
cathode is

AT Hydrogen (B) Sodium metal
(©) Oxygen (D) Chlorine
an Na Can

5 Which of the following is ore of iron

(ArfAaematite

(B) Cassiterite
(C) Dolomite

(D) Bauxite

6 The most stable hydride of group 15

elements is
AT NH, (B) PH,
(C) AsH, (D) SbH,4
7 Which of the following is not a transition
element
(A) Fe (B) Mn
() Cr BT Zn

8 CHj3-CHy-Br + KOH (59 > ‘A’ Here 'A’is

WA CHa=CH, B CHs-CH,-OH

(C) CH=CH-Br (D) CH;-CH;

9 An atom at the corner of a unit cell

contributes to the unit cell
(A) 1/4 (B) 1/2
(C)==id A 18

10 Osmotic pressure of the solution can be
increased by

Af increasing temperature of the solution

4 NaCl & STl fderga & dggd 3gec 4
ST ) U g @

JNEEGEE  (B) SifsTm U
@ 3fFllem (D) FilF

ok alay pws v th ek

5 T A €8T (Fe) &1 SRF &

JATHEISE (B) eIz
(O SrFRe (D) STETEE

6 & 15 & Tl 1wl = e
BRITES &

AT NH; (B) PH,

(C) AsH, (D) SbH;
7 3TH A D WHH 9@ e &

(A) Fe (B) Mn

@cr JP) Zn

8 CH;-CH,-Br + KOH @ > A uﬁ .A.%

CH2=CH2
(C) CH=CH-Br

(B) CH3-CH,-OH
(D) CHs-CH;

9 Thd SIVHI & BN TR IURT SO H]
TS HIPH H AeH gl &

(A) 1/4
Cy 1

(B) 1/2

BT /8

10 feT97 &1 WRRY g€ ermT 51 9Har 2 -

(B) decreasing temperature of the solution {py TaTaa &1 agEE Gl B

(C) increasing volume of the vessel (B) faer &1 aguE &9 &1
iluti i RIECARC I GERCIAKCT

D) diluting the solution (@] 8¢

” (D) fderam =1 wigar &7 X
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12 Mond’s process is applied for the
purification of

(A) Fe
(© Cu

JBNi
(D) Al

13 Covalency of nitrogen in N;Os is

(A) 2
Jer 4

®3 %
®s N
0
14 Aqueous solution of which of the
following ions is colourless

v

-

(B) VJ«»

J,D'YSC”

(A) T'|3*
o
15 CH; - CHy-1 + KCNgg --> ‘A" Here ‘A’ is

(A) CH; - CHa-NC
(C) CH;-CN

4B) CH; - CHx-CN
(D) CH; - NC

16 The percentage of available space occupied
by spheres in a cubic close packing (ccp) in
three dimensions

52.4%
76%

(B)
(D)

(A) 26%
Jor 74%

17 The relative lowering of vapour pressure
in case of a solution of non-volatile
colute is equal to the mole fraction of
colute. The statementis based on

(B) Arrhenius law
(D) Ostwald’s law

(A) Henary's law

\&C_’S Raoult’s law

11 The molar conductivity of an electrolyte | 11 aggaargyed faad &1 HieR il |
Increases as gfg erclt 8 o :
JAJ dilution increases AT A gfg et &
(B) temperature increases (B) dT9HT e gl 2
(C) dilution decreases (@K RGI | gicht ?
(D) none of the above is correct (D) ST w18 i wedl el 2

12 Tiug ) &1 v e e1g & e & fo
gare

17 sraraefid fidy w4 o fiea & 9
2@ T omifire EawE facg & AE-3u &
FEEU g 8] U8 9 fFEd SgER E:

(A) B @t Fd

(B) 3Ref g @1 fan
1£) 3T &1 TR

(D) 3Meares @1 (AgH

&N WO TR

(A) Fe B) Ni
(©) Cu (D) Al
13 N,O5 # ST &) U WaISTHa ¢ @,,WQJM g,
o o ¢
Jo @2 ®)3 Lm0 s
N (D)5
\o—
14 T8 @ fg g &1 Iod feg Tei ) s
Gl (b
4 oS
{yfuth ¢
A T B) V** //.J 77@‘ :
@cr” P se* Co {,,w‘/"-‘ :
15 CHs- CHal + KCNgi --> ‘A" T8l ‘A'®
(A) CHs- CH-NC  {BS CH;- CH,-CN :
(C) CH;—CN (D) CH, - NC
16 Pfdw d @l fAfds §Fe A IuaH "EADT | S - 52-9%
e ufirrd Tl g1 9% ST & .
bee- 684 .
(A} 26% (8) 52.4% fec-ryth - b
L 74% (D) 76%

b e
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